


” A can do 75% of a job in 18 days and B can do 25% of the job in 12 days. If
| they work on it together, in how many days can they do 75% of the job?
A 18 T2 T 75% HTe R Tehar & SR B 12 foAT 0 25% e aewar g afe a
FHTH R T ATA T 3, a1 Y forae et & 75% i Ao 27

(a) 16
(b)8
(c) 20




= Area of 4 walls of a cuboid is 57 sq m, if its length is 5.5 m and height is 3 m.
2 What is its breadth (in m)?
HATH T 4 ST T AABeT 57 T HIeT g, SR 3Hhl eatg 5.5 Hiet AR T
3 Wiex B STt <itetg (it o) T e?




@ At30% discount the selling price of an article is Rs 1050. What is the selling
3 price (in Rs) if the discount is 15%?
30% P W Teh T& T {ha e 1050 % 31 a3 TE 15% Bt v v (&
) FTR?

(a) 1200
(b) 1175
(¢) 1100




@/ What is the fourth proportional to 336, 288 and 161?
4 TQUTIUTA 336, 288 3R 161 FATR?

(a) 184
(b) 115

(d) 134




-

¥/ A trader had 630 kgs of rice. He sold a part of it at 15% profit and the rest at
S 8% profit, so that he made a total profit of 12%. How much rice (in kgs) did
he sell at 8% profit?
Tk STITY o U 630 TReTRITe <raret 9 S8 S8Rt Ush (6T 15% T W
IR STERT 8% T TR I, TSTE S0 et 12% T AW Shwmam feham =raret
(FReTIT /) I8 8% TTH W S=m?

()
#

(b) 300
(c) 280

(d) 290




/4

The simple and compound interest that can be earned in two years at the
6 same rate is Rs 4000 and Rs 4180 respectively. What is the rate (percent per

annum) of interest?

TTERUT SR TEhaleg ST ST 4T AN N Ueh §1 G0 | HUTAT AT Hhal &, SHuT:
4000 1R 4180 TI| =TT <kt X (fereTer ufer o) ST R?

(=)

B
A

(a) 18




’” How many numbers are there from 300 to 650 which are completely divisible
7 by both 5 and 72
300 & 650 o Hea T HEAT fohaT & ST 5 3R 7 ST o G i © fawsa 82




9/ If the diameter of a sphere is 14 cm, then what is the surface area (in cm®) of
3 the sphere?
e Teh 7Y T ST 14 AT 2, Y et b1 s Srswer (Bt 2 §) F 2

(b) 308
(¢) 900

(d) 870




B/ If the price of pen decreased by 20%, then a man can buy 10 more pens for
9 Rs. 100. What is the new price (in Rs) of each pen.
Aqf FHeTH T hIAT 20% HH BT ITAT 3, A1 Tk ATGHT 100 TIX | 10 IRUT
W THaT 8| T U hl 18 hid (6. 7) FT R




~/ 2\ tram‘ !ave's !I!o Ias!r l!an a car. !o! SQ Irom pom‘ l ! ! !e same !me Rl

1() and reach point B, 140 km away at the same time. On the way the train takes 25
minutes for stopping the stations. What is the speed (in km/hr) of the train
Teh &7 Ueh TR <l e H 40% 31Fereh ait & arar et 81 S g A R e e &
IR T g wwr o 140 forrt g fofg B aes uger €1 T # RyAT WEw & forg g
1 25 fme e & g ehrfa (et wer ) = e

(a) 67

(c) 145.9
(d) 160




SIn2A4
1+cos2A

e i
e

11 What is the simplified value of




— If length of each side of a rhombus PQRS is 8 cm and !PQR =120°, then

12 what is the length (in cm) of QS?
a2 T TS PQRS & e W1 sl aTe 8 9t ot £ PQR =120 ° %,
QS Y e (@t o) T R?

(a) 4V5
(b) 6

(d) 12




@2/ What least value which should be added to 1812 to make it divisible by 7,11
13 and 142
T TTE D 46T R 1812 HMTARA a1 7, 11 3R 14 8 quiar farwfra gt

(a) 12

) 36
(c) 72
(d) 154




” One of the diagonal of a rhombus is 70% of the other diagonal. What is the
14 ratio of area of rhombus to the square of the length of the larger diagonal?

Uk AR o farmut 3 & e o frenut vt 70% #1 e forehut < orard & it
& ST T B FITE?

(a) 3:10
(b) 3 : 20

(d)7:10







@2 If tan0 = 7/24, then what is the value of cosec 0?

16

(a) 25/24

() 24/7
(d) 24/25




17

@)9:4:25
b)25:4:9

(d) 49 : 25 : 64




The average of four consecutive even number is 15. The 2" highest

number is

TTITAR WX §H 64T &1 q 15 3. 300 aa8 agr 6eary




A chord of length 8 cm is at a distance 3 cm from the centre of the circle.
19 The length of the radius of the radius of the circle is :

Teh AT it #@ars 8 cm NI g W 3 cm Eﬁ‘ﬁ:\ﬂ‘ﬂ'{% arIg qa i

P e?

1) V7 em




Find the value of

\

11../11.4/11.V11
i



A and B alone can complete the work in 2x days and x days respectively and C alone can

1
complete 3 I'd of the work in 12 days. If C alone complete the work is 14.4 days more than the

time taken by A and C together complete the same work, then in how many days B alone can

complete the work

A 3R B 3tehet shusT: 2x foat o x famt & o qir et @eha § 9fR C skt 12 famidwm st 1/3 1
d 90 X FFHAT 71 ATQ C 3Tehe! 1A Tl T HIAT 8, AT A FR C ZRTTHH 6T bl 00 & § ferg g
AT A 14.4 137 172k 2, 1 B 3TRAAT 36 il ot Toha fart § OR1 6T |ehaT 82

2)54
3)108
4)36




iy T

I‘-'.—'_‘i*"""..-)
A container contains 90 liters of milk and 18 liters of water. If X liters of mixture is taken out

22 and 6 liters of water is added, the new ratio water to milk became 2:5, find the value of X

Teh thet W 90 e 391 3R 18 e urit 31 afe frsror X witex frewrer forerm wman & @i 6 wftex
Tt ot fora STar 2, a1 o & T ST AT ST 2:5 B AT 8, X T HA AT ity




